DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11INPCBO2 | NEET PRACTICE QUESTIONS | "% %
(2023-24) (TEST-2) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A car covers the first half distance between two
places at 40 km/hr and the other half at 60 km/hr
the average speed of the car is

A) 120 km/hr B) 48km/hr
C) 50km/hr D) 24km/hr

&M @Ueoor(h) QL ISHEHEHES Q6L LILIL L 66e0TmI
W& SIMTL LGH Qsmemevemel 40 km/hr LS
3T LGS Q& memeven el 60 km/hr Gaud S S eviln
SLERME ereoflev &Mifler Frmaf]l CaussHens
&H600T5 3 () &

A) 120 km/hr
C) 50km/hr

B) 48km/hr
D) 24km/hr
2. A particle moves a distance x in time t according

to the equation x = (t + 5).  The acceleration of
particle is proportional to

A) (velocity)*?
C) (distance)

B) (distance)?
D) (Velocity)*?

SIGET RTMI X QHTemnevenal t &HTev 6meiley
X = (t+5)" 6T60rm &FLOETUML Q60T LG SHLESRMmS
eteoflev, siseaflar WHGHSHWD LeTeuBld HS
el H &S GBI SHHel6L SenE M.

A) (e & CeUssLD)*2 B) (& T60I6V6))>

Q) (A& MTem6V6Y)> D) (&6t & B6u8s10)>3

3. A ball is dropped from a high rise platform at t =0
starting from rest. After 6 seconds another ball is
thrown downwards from the same platform with a
speed v. The two balls meet at t = 18 s. What is the
value of v (Take g = 10 m/s?)

A) 75 m/s B) 55 m/s
C) 40 m/s D) 60 m/s

@@ 2 WISSLILLL Bl CenL_uiledlmnha t = 0
66T &HMeV jaTalley lla] Blemevulev 2 a6
Ub& eetml BCL allmm QEFWWLILGS M.
6 BIWLEHMG LT HelL Ceml uledmbs
HAMTH LUHS 26 CaussHe) GG ell(WpLnmm)
QFUWLILGSRDmE. t=18 elermgse  Leor
QOUHSSHED  QRETEOMEOWITEIN  FHESSHTeV
v-60T L0G\LILITeoTSl
A) 75 m/s

C) 40 m/s

B) 55 m/s
D) 60 m/s

4. A balloon is at a height of 81 m and is ascending
upwards with a velocity of 12 m/s. A body of 2 kg
weight is dropped from it. If g= 10 ms™, the body
will reach the surface of the earth in

A) 1.5s B) 4.025s C) 5.4s D) 6.75s

81 m 2. WISH6V 2 66T LISTeT eedrml 12 m/s
FenFBe6uT 5T 6V CLAVWHR M. UHS
Lisumeot1ed (B &l 2 kg Blem m U 6Ter QUIMBemeT HGLp
AWWMMI QFWWL LT QuUmT@meT Lellenuwl
S60)L_ULJLD &IT6VLD 6T60T60T? (=10 m/s?)

A) 1.5s B) 4.025s C) 54s D) 6.75s

5. A stone falls freely under gravity. It covers
distances h , h, and h, in the first 5 seconds. The
next 5 seconds and the next 5 seconds respectively.
The relation between h , h, and h, is

A)h =1h =h, B) h=2h, = 3h,

C) h=h/3=h /5 D) h,=3h, and h,=3h,
&6 @erm Lelrgly  ellemswmey HGELo
AWHEMS. AHHO (PNG6V, @I6EUUTLITID DMHMID
epeormmd 5 BIOLmsefley wenmCw &HLbBS

Qgmemevey h, h, LMD h, etesfleb h, h, h, &&
QenLLILLL Q&ML

A h, =Th, = h,
C) h,=h,/3=h,/5

B) h,= 2h, = 3h,
D) h,= 3h, and h,= 3h,



6. A body moves with initial velocity 10ms™.
If it covers a distance of 20 m in 2s, then the
acceleration of the body is

A) zero B) 10 ms> C)5ms? D)2ms?

@ QUITH6T 10ms™” QSMTL&HEHS HenFCalssH 6V
QEFELVRME. @B QUTIHeTTTS 2 aflermiguiey
20 ISLLT Qmemevenal &LEHMG  6reufley
Qumperfledr B &HELD WIMSHI?

A) &L B) 10 ms> C) 5 ms>

7. Two balls A and B of same masses are thrown
from the top of the building. A, thrown upward
with velocity V, and B thrown downward with
velocity V, then

D) 2 ms?

A) Velocity of A is more than B at the ground
B) Velocity of B is more than A at the ground

C) Both A & B strike the ground with the same
velocity

D) none of these

@565 bleopueLw A WLOHDIWD B earm QG
UBSISH6ET 2 WInmer &L LL&&6er Gedmbhal
erflWliL@G&mE. A wmerg  CeCHMEHSR  V
FensrGasmsHevnd B wWmergl S CHT&HESe V
HenFCalsmSHID erMIWLILIGH M 6T6vfl6v
A sevpulley A-60T HemFGeusld B 3 el
G
B) Zenvguilel B-eoT HlemsGausid A & el
2B &1D
OA & B &6y HansGaussHen SHangulley
allwlb
D) GLoM & 60T 6116 L6V 6tV
8. A cricket ball is thrown up with a speed of
19.6 ms™'. The maximum height it can reach is

A)9.8m B) 19.6 m
C)29.4m D)39.2m

AflHesL. Ubhs  @arm 196 ms' CaussHev
GeCHTEHEE erflWILGRMS. LILUBS LD
QUEHLD 2 WL,
A) 9.8 m
0) 294 m

B) 19.6 m
D)39.2m
9. A cat moves from X to Y with a uniform speed

V, and returns to X with a uniform speed V. The
average speed for this round trip is

2V, /
A) V,+V, B) v Vi Vs

d Vu
Vd + Vu D)

C)

VitV
2

LLEM6OT R60TMY V, 6T60TM EFTmeor HemaFGeausHs 56y
X ®mbg Y &6 QFuHmaE. Gaild V, 66T
Frmer HensFGasHsHe WLMUQUD X &S
SGLUEMS. AFHOT QLTSS G)UISESS 6T
FrrnaFf] GeussLd SHITeoorTs

2V,V, o
A) V4V, B) vVu Vs
\'A V.+ V.
SRS D) =5~

10. Aboat crosses ariver from port A to port B, which
are just on the opposite side. The speed of the
water is V and that of boat is V , relative to still
water. Assume V, =2V . What is the time taken
by the boat, if it has to cross the river directly on
the AB line.

2D /3D
VG B) “3v,
D D2
D Va2 D) =,

SIS A BHS THTHenFuley 2 6T
SOMUSHID B &G LLG Q6T QFHRMSI.
IBl6m)6V WL 60T HenrL QUITMIS Sl B rfleor
HemgGausd V, LHMID LULHT HengGeausid
Ve 'V, = 2V, ereflel AB G&TL(H Hlenguley LILG
LW6DITLD QEUWSTL Mmenme &HL&HS LILG
TS5 Qamevor GBITLD.

2D J/3D
& ETAEY B) "2V,
D D2
RARVANG) VA

11. The velocity of a bullet is reduced from 200m/s to
100m/s while travelling through a wooden block
of thickness of 10cm. The retardation, assuming
it to be uniform, will be

A) 10 x 10* m/s?
C) 13.5 x 10* m/s?

B) 12 x 10* m/s?
D) 15 x 10* m/s?

10 cm SIQINET 2 6TeT IHEHLMLMUL  SHeM6TH S
QD FILILUTES Gevor(h eaTmMle HlenaFCalssln
200m/s &8BHE 100 m/s &E& GOMHBMSI. (& 600TIq 60T
Frmer eTHTWH&HSHLD.

A) 10 x 10* m/s?
C) 13.5 x 10* m/s?

B) 12 x 10* m/s?
D) 15 x 10* m/s?
12. The acceleration a of a particle starting from rest

varies with time according to relation a = at + f.
The velocity of the particle after a time t will be

2 at’
A) &= B) 2 *At

C) at+ 1 D) @ rh)



QW MmIGLD
6T60T M
&IT6V

eualdlehg a WOHESHSH
Qumperfleor WHSGSHD  a=at+p
FeTUTL LT SIUNLLUGSmE. t
jemallev &iserfler HengFCalssin

A) ath B) “th+,8t
Q) at“r%ﬁt D) M

13. Starting from rest, acceleration of a particle is
a=2(t=1). The velocity of the particle at t = 5s is

A) 15m/s
C)5Sm/s

B) 25 m/s

D) None of these
RUamha Faln Siseflar WhHEHSHLID
a=2(t-1).t = 55 6L ZIG6IfleT HenFCausmLD

A) 15m/s
Q) 5m/s

B) 25 m/s

D) @eummlev eTgiaLllevemev

14. Two bodies of different masses m and m, are
dropped from two different heights a and b. The

ratio of the time taken by the two to cover these
distances are

A)a:b
C) Va : Vb

B)b:a
D)a,:b,

m, HmILD M, Blenm Q&mesor @)@ O LIMTHL 86T
a wmHmib b eTm 2 WFSEHOGHS SHCL
eflWLILGSMG. @bHS 2 WJHIGHNET SHL5HSH
QUL SGET T(H&HSI&H GC&MeoTL. 85MeVkigserfleor
NSRS LD :

A)a:b
Q) Va:\b

B)b:a

D)a,:b,

15. A body starting from rest moves with constant
acceleration. The ratio of distance covered by

the body during 5th second to that covered in
5 seconds is

A) 9/25
C) 25/9

B) 3/25
D) 1/25

U pHS QUES BHlemevsE Q&N

QUITB6T e60TM  WLTMTEH WHEHSH 6V
QUWRIGHR M. 56U LDMHMID 5 efleormig serflev

QUITHET FHLEGSLD Q& Tem6V6) 5 61Tl 60T
& 5LD.

A) 9/25 B) 3/25

C) 25/9 D) 1/25

CHEMISTRY Q.No. 16 to 30

16. The equilibrium constants of the following are

2NH; == N, + 3H, K,

INO==N,+0, K|

k 1
H2O S Hz + 702 K3

then the equilibrium constant (K) of the reaction
2NH, +3 0, == 2NO +3H,0 will be

A)K KK, B) K,K| K,

C) KK, | K, D) K, | KK}
G0 55 600T L 61160 60T (615 & &5 IT60T FLoBletev
omledl &6t

2NH: == N, +3H, K,

2NO ==N, + 0, K,

H,0 <= H.+ 50, K,
L5 @ BG&G!D GUIMTEI 2NH; +5 0, == 2NO+3H.0 |
660N &l6meEoTE G TaT &FLnBlemev Lomiledl

A K K| K, B) K,K,* | K,

Q) KK, | K, D) K, | K,K;2
17.If the value of an equilibrium constant for

is 1.6 x 10", then at
equilibrium the system contains

a particular reaction

A) all reactants
B) mostly reactants
C) mostly products

D) similar amounts of reactants and products

G  GMUNCL  alemerwiledr  FloBlemev
orpledlulledr  WHLILIMeTS 16x 102 95
@GS CUME HS FOBlemey emnliLlev
@ouusg

A) ST SN 6l6m 60T LI (B G LIT([H6IT

B) 25 & LIL&FIOMS ellemeor () GLITIH6T

Q) Hs&LULEFLD ellement ellemer QLITIH6T

D) eflemeorLQQUTIHET WMHmID ellemeorallemer
QUITIHET &FLOLDMTS @)(H& 6V

18. The value AH for the reaction x,  +4y, = 2xy, .
is less than zero. Formation of xy e will be
favoured at

A) Low pressure and low temperature
B) High temperature and low pressure
C) High pressure and low temperature

D) High temperature and high pressure



Xyt o™ 2XYag AH<O QB s)fﬂemarr uileb  xy,,
2_([HEUMEUSMETEOT [BlLIMHGS6M60TE 6T
A) GODHS SWSHSD GBS GeuliLbleneu
B) 915 & QaULILIBle06 GOMBHS (LSS
0) 2455 WSS GBS QeuLILIBlane
D) 95 & QeulILBleme HH & (WSS

19. The rate constant for forward and backward
reaction of hydrolysis of ester are 1.1 x 10?m™!
and 1.5 x 10°m™" equilibrium constant for the
reaction is

A)4.33 B) 5.33
C) 6.33 D) 7.33
eTervL_fleor BrrHusLiy aflemeoTuilev

(PTG G WMmmILD LNeoTGeorms: & elemeorudleor
aflemer@eus LOMMIES 1.1 x 102 BIALLID" WMHMILD
1.5 x 102 Pl @Bs allemeTuier Fmleney
omled
A) 4.33
C)6.33

B) 5.33
D) 7.33

20. For a reversible reaction, if the concentration of
reactants are doubled, the equilibrium constant
will be

A) one — fourth B) halved
C) doubled D) the same
@m Warallemeruilled  aflemeor LG @ LIMH6rl 60T

Q&nle] @reor(h WLMBISTGMD CLITSI, FLOBleney
mnleSludlest &L

A) BITEOTHRI6L 6([H LOLMIG H&l& G0

B) @ I600TI60 (D LOLMBIG HHSF& G0

Q) @ evor(h) LOL_MIGMTGLD

D) 6T6& LMHMEALD QBESHSTS!
21. In which of the following equilibrium K and K,

are not equal?

i) 2NO = Ny + O

ii) 8Os+ NOs = SOs + NO,

111) Hy + L = 2HI

iV) 2C i+ Ou = 2COuy

A) (i,ii) B) (ii, iv)

O) @, 1i1, 1v) D) none
BLogeoorL 6ThS eflemesrullev K, LoMmiLd K. oM miLh
FLOOMSH QHEHHTSI?

i) 2NO = Nag + Oy

i) SO, + NOse = SO5 + NO

i) Hag + L = 2HI

iV) 2C + s = 2COxy

A G, ii)
Q) (i, iii, iv)

B) (ii, iv)

D) @eummlev 61816 Ldl6v6em6V

22. If ais the fraction of HI dissociated at equilibrium
in the reaction, 2HI j=H, + I, starting with 2

moles of HI, then the total numbers of moles of
reactants and products at equilibrium are

A)2+2x B)2 Cl+a D)2-a

2HI 2H, + 1, 61601 &Floplemev eflemeoruiley Hieor
FengalemnL_G6V LN6eTerd o GLOMEVITHED 5560
QBTLES Q&FMla] 2 CLOMEVGETTHA|D @) [HHS TV
Fplemeuilev allemerTLIBQUTIHETHT OMHMILD

aflemeoralemrem QUITH6TEs6rfl6oT QLTSS
GLomeL&s6rfl6dT 6T6v0T 6001 8560085
A) 2 + 2a B) 2 O1+a D)2-a

23. For the equilibrium MgCOs, == Mgoy,+ COx
which of the following expression is correct?

A) Kp = Pcoz B) K. = (Mgo)(COZ)
P (MgCOs)

C) K= Tl D) all the above
MgCO;., == Mgo, + COxy 6T60T M FLO[Bl6m6V
eflemeoTuIl6V 6781 &I ULIT60T o (D I1?

A) K, = Peo, B) v . (Mgo)(CO:)

'n PO P X, (MgCO:)
O Ki="p— D) @) 606U LIEN TS SILD
mg 3

24. The value of equilibrium constant of the reaction
HIy = 5H.+ 5Ly is 8.0 then the equilibrium
constant of the reaction Hae + Lo = 2HI will be

A)1/16 ~ B)l/6d C)16 D)1/8

HI, = lez +1712<g) eTedTm  ellemeoTulledT FLoBlemev
rmleduier WH LI 8.0 eresflev Hap + L = 2HI,
eteorm ellemreor Ul et FLnBlemev L mMledulledr LDGLIL]
A) 1/16 B) 1/64 Q) 16 D) 1/8
25. The reaction quotient (Q) for the reaction,
. _ [NH:J
N +3H,e = 2NH,,, 1S given by Q = INLT
then the reaction will proceed towards right side
if
A)Q=0
C)Q <K,

B) Q=K.
D) Q>K.

N2<g) + 3H2(g> = 2NH3<g)
[NH.

6ttt &l60)60TE: (& 60T LD

Q=m eTeoflev @BS allemeT aUEVEILIGSHLID
5 J6USMETEOT [B] LI5S 60)60T

AQ=0 B)Q = K,

0 Q<K D)Q > K.



26. Partial pressure of O, in the reaction
2Ag:0¢ = 4Agy + Oup is
A)K, B)VK, CO)3VK, D)2K,

Glos e allemertuiley O, 6T LGS S(WHSHLD
eTaTLIgl 2AL: 06 = 4Ag6 T Oy
A K, B) VK, Q) 3VK, D) 2K,
27. 2805 + Oag = 2SO In the above reaction K,
and K . are related as
A) K, =K_x (RT)
B) K, = K_ x(RT)"
C) K. =K, x (RT)
D) K, =K_ x (RT)>
28054t O2 = 2803 @euefemeorufev K, ommith
K. @S Weuhmlhsmer Qg ML
A K, = K_x (RT)
B) K, = K_ x(RT)"
O K, = K, x (RT)?
D) K, = K_ x (RT)?2
28. Which of the following graphs represents an exo
thermic reaction

Nl Bl
1 1
% %
0) < D)
KP
1 1
5 %
G LD 856007 L_6) (D M1 61T 6TEUGUEMTLIL LD QauLlLl

2_flbellementeniss GMILILNIOSMS.

29. For the reaction N,+ 3H, = 2NH; the initial
mole ratio of N, : H, is 1 : 3 at equilibrium only
50% has reacted and equilibrium pressure is P.
Find the value of PNH3 at equilibrium.

A)P/3  B)P5 C)P9 D)P6

N2+3H2 - 2NH3 @6516)5]60‘)66[@6\) N2 : H2
S WamMlerr oL Gumseflar all&msid
1: 35 1W0Blemevuilev 50% element (LNLY[HS Blemevudlev,
FIOBleneV WSS P erevfley Flomlemeuudley Pa,
MW 8600155 () &.

A) P/3 B) P/5 C) P/9 D) P/6

30. The equilibrium constant of a reaction is 300.
If the volume of reaction flask is tripled, the
equilibrium Constant is

A) 300 B) 600 C) 600 D) 100

@ allemeorwiledr Fnmlemev WMMledUledT S LIL]
300. 6l60)60TSH6V601160T HEUT 6TEY LNEOTMI LOL_MBIG

2 WISSLILLLTY, &Floplemev  ommledlulleor
WS
A) 300 B) 600 Q) 600 D) 100

BIOLOGY (BOTANY) Q.No. 31 to 45
31. Identify correctly matched Pair

1. Nostoc — Coralloid roots of Cycas

ii. Mycoplasma — Witches broom of legumes
iii. Actinomycetes — Ray fungi

iv. Ascomycetes — club fungi

B)iand iv only

D)1i,iiand iv

A) 1 and iii only

C) 1, ii and iii
giflwmer @enetorenl C5IHOSM:

|. BITEIVLITE — 60)F&H6r0l60T LicUeT Caugs 6T

1. D& CSTLINGTITENVLOIT — Q6VFnLD &TeUTEH) 60T
SlenL_ LD GBmul

. 9,819 GaTMenIDEL 6 — HH T LLEHen &
1. 9LeNVCHMMDFL 6N — G600TL MM

LL,©6h 60 &F &5 61T
Al LoHmitd 1Nl B) | Lo miLh IV
O I, Il HauLd 1l D) I, Il LnHmuLd IV

32. Gametangial copulation seen in

A) Rhizopus B) Neurospora
C) Agaricus D) Albugo
GaLSL L& @ emerorlIL] (Lnemm &meoor 1L (hleUS
A) e G&F LI B) Blw, Gy menu@UImym
Q) 9&miflsen D) 8|6VL|B&IT

33. Identify wrong statement with reference to
Mycorrhiza
A) Absorb water and minerals for plants
B) Drought resistance for plants
C) Protect roots from root pathogens
D) Air pollution indicator



MWECHTMIFT GMSHSH SUMTEOT  FnMDH6OM Q& meoflg GUWIT eNVBLIMTT&H 66T 2_(HeUMEGeUS!
&600T L1 &2

A) &L, QLITESl6V6V6MN B) FFeNVL
A) &ITEUIT MG @15 8@ & 60 1LO LG LIT(HL_& 6T LM MILD . .
) %ﬁ &U@@Eﬁmgﬁ)@ © Do Q) em & Lifligeiv D) etiflem g s L

B) STOUIRISEHHS UDLFlemw  STHGLD 37. Heterocyst found in

e ojefl&EE DS A) Cyanobacteria
Q) G@Jljascmm . . Gmnu’.w_srrqmﬂasaﬂe&r B) Mycoplasma

BM56EGS56060 QBHS! LNMSI&TSHSH6 o

) ) ) ) C) Basidiomycetes

D) &M mi LOM& FL1q SMLIQWITSHF

QFEWOLGR DS D) Ascomycetes

34. Assertion (A) : Lichens are pioneers in Xerosere Qa ng.@gﬁ@duL@adT sTeumbfled
Smeoor ILGR mSI?

Succession.

. . . A) FwGeorm LMs e Fluwrm
Reason (R) : Lichens secrete organic acids which ) iy

corrodes rock and helps in weathering of rocks B) 6mL0& @& MLilemmeruLor
A) A and R true and R is correct explanation for A O LS BWITEmLOEL 61
B) A and R true and R is incorrect explanation D) &4,61VG&IT emIDFL 6V
for A

C) A is true and R is false 38. Red rot of sugarcane caused by

D) A and R false A) Puccinia
Eabm (A) © amdt Hevs Smeud eudwhenm B) Aspergillus
U6 7 & & Ul 6ot (LD 60T G6OT LY. STEUTLOTS C) Colletotrichum
M6VEC&H60TH 6T el 6ITMhIGHH M S D) Albugo

SIITD (R) : 6MVQHETSHET LIMemMEET LIS n. . ) ) .
S SSLEGEEET &IHSI LG o meuns | SGLUET Falil SiW0&e CBITUIS ST &6t
2 Fa|HE . A) LSEeoflwim

A)A DHmMID R @resor(Od &Fifl — &MFevord R, B) @L,60GILIT Sl 6bevery

A & Fiflwmer eflengaLn ' o
.. .. . . Q) G MeIL_GLITI)6mI8 8D
B) A LoMmilb R @uevor(pd &Fifl 9,616l R, A &

Flwmer eflendah Sj606V D) S6uLyGam
O A &l R seum 39. Match the following
D) A LomaILD R Geuay a. Halophiles — i. Hot springs
35. Parasexual cycle seen in b. Thermoacidophiles — ii. Aquatic environment
A) Phycomycetes c. Methanogens — iii. Guts of ruminants
B) Ascomycetes d. Cyanobacteria — iv. Salty area
C) Deuteromycetes a b Cc Cc
D) Basidiomycetes A) iv i il i
gHs Leemaulled LMelenarQunss Serenn B) 1 ii 1ii iv
S LIUG S 0S? C) i iv i
A) LIGH T L 61 D) ii iv iii i
B) 94,6V B&HTEmLOEFL 61V QUNBESIE?
O YW 19 GrmenLnE L6 A. anGeTLI6V&E6T — i. QeuB BT 2erm mig 6T
D) Ul G &L 61V B. QB FGLT SIFGLTLIGVSEET — ii. BFeUTLD&TemL0
36. Conidiospores produced in C. QLSS CETTEE — ii. HTLBEOLSHeledT &L 6V
A) Aspergillus B) Yeast HEH

D. FWGeTm UMGLeflwm — iv. 2 61[J Blev LGS

C) Chytrids D) Erysiphe



a b C C
A) v i iii ii
B) i ii iii iv
Q) il iv ii i
D) i iv iii i

40. Which of the following is a correct statement?

A) Cyanobacteria are a group of autotropic
organisms classified under kingdom Monera

B) Bacteria  are
organisms

exclusively  heterotrophic

C) Slime molds are saprophytic organisms
classified under Kingdom Monera

D) Mycoplasms have DNA, Ribosome and cell
wall

FlWmeT Fanmenm 8evorL &

A) FWGeTT LUMSICfIWBIGET SHEMTTLEMLUI,
QLTI 2 V&HS5MS SFMIHS 66

B) LM&Ie WM& S6T (WNWenIDWTS  LIm&EmiL
2T L (N6 MM FITFHSH6M6

C) evemeuld GLOmeL(H &6IT L0 L (& 600T 6001 ]
o2 WfleothigGeT QLT TT 2 VHESHMS
FMIHSHME.

D) emL0& @& Wermeuomeiley DNA,
FCUTGFMD LDMMILD QF6VE6UT
Smeoor ILBGSBMSI.

41. One of the major components of cell wall of most
fungi is

A) cellulose

B) hemicellulose

C) Chitin

D) Peptidoglycan

Lepengsmaflar  QFusalfley SmevorliLGID

WSERW UGS LIQUITIHLG6T
A) QF6L8VIGeVITEN
B) @am L@ &6V eI G6VITeN
C) eM&L_1q 60T
D) QUL CLIT &emermads 6ot
42. The imperfect fungi which are decomposers of
litter and help in mineral cycling belong to
A) Phycomycetes
B) Ascomycetes
C) Deuteromycetes

D) Basidiomycetes

SHeflld FPMHFGHEG SHTTEOTIONET (G LI60 LIS M6
(@ 606V) PG5 G LD (LDWEMLD QLIMIT L, ©6He) F 86T
A) emLICSH T EL 61V
B) &L,6NVG&Tem NG L6
Q) 1Q WL 19 GTmem D& L 61V
D) LIS BWIT M EL 6N

43. After karyogamy followed by meiosis, spores are
produced exogenously in

A) Neurospora B) Alternaria
C) Agaricus D) Saccharomyces
2 L& @ emeooTellM&S Y& GTMEV

UGSLL epeuld BemLQUMM  6VCUTFHem6T
QeaueflImLOTE: 2 (HeUTE @G LIemel

B) @60 L F@BIFlWIT
D) 5FM& & CTmen Lo e

A) BlW,Grmerv@UITT
C) 95 miflsen

44. Mycorrhiza is correctly described as

A) Parasitic association between roots and some
fungi

B) Symbiotic relationship between fungi and root
of some higher plants

C) symbiosis of algae and fungi
D) relation of ants with the stem of some trees
Gaulfl WehemFsem6T SFiflwims afleufl&h @D domHmi:
A) Hlov L,EHmEFSHEHE G, G6lTHhEH8sEL0meoT
631 (b 600T600T | GUITLD & 600
B) LLEH60F & EH& G LD, 2 WSmelr
GaUSEHEHGIDMET dal HWIF UMD

Q) BLVEMTHHEBHGID L, 6H6DF&H 65 G L0MTE0T
Fal U aUMLDEN S
D) 6TMILDL]&HEHE G LD LD I & 615 & (& L0 T6OT

Q&TLIL
45. The black rust of wheat is a fungal disease caused
by
A) Albugo candida
B) Puccinia graminis tritici
C) Melampsora lini
D) Claviceps purpurea
Gammaiemlnuiler i GBTUI (Black rust) &rreoof]
A) 216VL|G&IT @& 600TLQLIT
B) L&Feoflw G ymidlevflerv 1qfligemna
C) QDG 6dl6vf
D) Germell@& 16 L, fluim



| BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. Which of the following animals are true
coelomates with bilateral symmetry?

A) Adult Echinoderms

B) Aschelminthes

C) Platyhelminthes

D) Annelids
GBLDHETLIMMIET 2 6ooTemlOWImerT 2 L MHGLEl
2 LW @BUES FIOEFFT ellevhi& eT&I?

A) (NH T 6T 5 C6oT TG LD 6T

B) 21,606 M 6L LA 60T & 61V &5 61T

Q) YermmL_19 Qem 6Ll 6575 610 8 6T

D) | 60T60T69I L T8 & 6T

47. Metameric segmentation is the characteristic of
A) Mollusca and Chordata
B) Platyhelminthes and Arthropoda
C) Echinodermata and Annelida
D) Annelida and Arthropoda

&H600TL. emL0LIL| @eummledT (LP&HGIUILILI6voTL]

A) QILDELSYIL_60 & 6iT LDMHMILD
P SIS BT 60)L_LLI6DI6U

B) LNemmL_19 Qe 6v L 65T S5 61V LOMMILD
556001 5 5 T601 &5 61T

C) TR COTTOLIGLOLLIT LDMMILD 2{60T60T60ILIT
D) 2|60TeoTe0ILIT LDMMILD 85600188560l &5 6T
48. Match the column A with Column B and choose
the correct option
Column A
A. Porifera —
B. Ctenophora —

Column B
1. Water vascular system
ii. Canal system
C. Echinodermata — iii. Metamerism
D. Annelida — iv. Bioluminescence
A) A iii) B i) Civ) D (ii)
B) A iv) B iii) Cii) D (i)
C) A ii) B iv) Ci) D (iii)
D) A iv) B i) Ciii) D (ii)
alflend A LnMHMID B e W] QUITIHS S5
afleng - A aufleng - B
A. Slem6mU L6986 — i. B8 &6V LD6vOTL6VLD
B. 19 GeoTM&GLITITIT — ii. &ITEVEUITL LOGDOTL_6VLD
C. &R COTTQLIGLOLLIT — iii. 856007 LIBI856ITT& 8510
D. oereoredlLT —iv.2_ul@rmerfligsev

A) A i) B i) Civ) D (i)
B) A iv) B iii) Cii) D ()
Q) A i) B iv) Ci) D (i)
D)A iv) B i) Ciii) D (i)

49. In the Poriferans, special flagellated cells lining
the spongocoel and the canals are called

A) Oscula
B) Choanocytes
C) Mesenchymal cells
D) Ostia
slemeTwLedserfley  ruLIMetTEpCFMFeL  LDMHMILD

Smealmil UGH&seafley ugellds smeorliL@LD
FLIL HeTenln Q&Moo SenF Ul QF60 &6

A) QLG
B) Q& MUIG6T et & L_(H 86T
C) LOF60T60) & L06V O &F 6V 86T

D) &L,6nLq.uir

50. Assertion (A) : Aschelminthes are called as
pseudocoelomates.

Reason (R) : In aschelminthes, mesoderm is
present as scattered pouches in between ectoderm
and endoderm.

A)Both A and R are true, R is the correct
explanation of A

B) Both A and R are true, but R is not the correct
explanation of A

C) A is true, R 1s false
D) Both A and R are false

FGamml  (A) LM LlleTEHenG6T  GLImed
2 LHGL 2 e elleubi&&6Tm&LD.

&Tgeoortd  (R)
B LILI6D L WITeoTS
slumLEGD Bhellev
QL BIGMTHIGCS & mI60) LIS 6T
& I6v0T L1 LI (H) 89 60T M 60T.

31,66 aM6L LA 6OTEH 6N & 6rfl 6V,
LmLULenL &G0
2 aTerL&GH ull6v

GuImeoTm)I

A)'A ommilh 'R @resor(pb &Fifl, 'R’ eTedrIg ‘A
et Fifluiment eflem&:&1D L@ LD.

b) ‘Ao MILD 'R’ @) 60T (h LD & [f| LLIT6OT60) 61 2, 60T [T6V
‘R ereorgl ‘A elledt Fiflwmer  aflem& &L
©)6LEM6V.

o) ‘A FfllMeTgl L6016V 'R’ S6UMITEOTSI.
d) ‘A lommild 'R’ @\ evor(hLD &6UMIT6oT6en6M



51. Which of the following is NOT a characteristic
feature of Platyhelminthes?

A) These animals are biradially symmetrical,
diploblastic with tissue level of organisation.

B) Their body is not segmented, but some exhibit
pseudo segmentation.

C) They are mostly endoparasites of animals
including human beings.

D) Specialized excretory cells called flame cells
help in osmoregulation and excretion.

L9 edTe6u (61 6oT6u M Ml 6V TS
LNemmL_19Qemeu Ll 65785 6r0l 63T LIGTOTL| 86T 260607
A) S Slemailevmeor 2 L6y
&L LemnLlemLIL] QUM MIGTET @66,
FITIEFNFFFenLnLIL|6mL FIH &GS
NVl 86T QLG LD.

B) @ 6u6uem & 2_ U f 8 6rfl 6L & 600T L5 85 61T @) 6V 60) 6V.
21,6160 Flev 2_uNfls6T L QD GLmedudmeot
9 L M&600TL_MIGH606ITLI GLIM MIGTEITET.

Q) @eme QUEBLOLMaILD, Loeofl&Geor 2 amerfll L
afleuriGerflev 62 () 600T600T | 61T TS
QU ITLD G 60T M 60T

D) &leB& LD, 2er(h&eVLIL] 6 (WD HIGLMHILD
FLILSHeTenD MBS, &6 BHeEF
QFVGHETTET &L G&F6V&6TT6L (Flame cells)
1560) Q) LI 01 §3) 60T ) 60T.

52. Which of'the following is a correct match between
the phylum and its larva?

A) Porifera — Planula larva

B) Cnidaria — Parenchymula larva
C) Ctenophora — Cydippid larva

D) Annelida — Veliger larva

BLHETEOID  QFTGSH&HEET WHMID 35607
VMTUMGESHERSHEG  @enLGuwmer  siflumeor
QUMTBHSSHLD 6T&HI?

A) SI6M6TU|L 6986 — LIN6TITEN6VIT GUITTEUT

B) BIGLIflWIT — LIMTJ6Tem & (LNGVIT GUITTEUIT

Q) 19.8eTMeCUTTT — S LI uTTeum

D) 3|60T60TedLIT — Q6euedlel eumyeurm

53. Ascaris is characterized by

A) presence of true coelom but absence of
metamerism

B) presence of true coelom and metamerism

C) absence of true coelom but presence of
metamerism

D) presence of neither true coelom nor metamerism

36N & MIflendl6dT Li6voTL| 856
A) 2_6o0Tem LOWITEOT 2L MG LS 260 LU Gl 24,607 T6VL
85600TL_TBI&6TMHMSI.

B) 2_600T60)LO LI T60T 2 LMm&Ll LOMHMmILD

856007 L5185 ©6560) LU G

C) 2_evoTemDWIMeT 2 L MGSWPIWMHMS 6016V
856007 L5185 @5 60) L_ULI G

D) 2_eooTemOWITeDT 2 L M&GWWMmmE mmin
&600T L_MBI&GETMHMSI.
54. Which group of animals belongs to the same
phylum?
A) Prawn, Spider, Limulus
B) Sponge, Sea anemone, Sea cucumber
C) Malaria parasite, Entamoeba, Mosquito
D) Earthworm, Hookworm, Tapeworm
Letraumeusreummiey 6Th&H alend  66VHkI G 86T
RCT QFHTGHH MW FTJHS606U?
A) @My, FevbH), 65l (Lpevey
B) BLMLUEHE , 5560 FTOHS), HL6V QeuesTerif]
Q) Geufluim 2L (hevorevol], 6Tevor L LSLIM, Q& MTE
D) D6ooT (W, Q&MESHLIL|W, HITLITLIL|W
55. Which of the following statements is incorrect
with regard to bilateral symmetry?

A) Body can be divided into two equal halves by a
single plane only

B) Itis foundinall invertebrates and few vertebrates
C) Earthwormand Prawn show bilateral symmetry.

D) The organisms that show bilateral symmetry
have paired body organs that occur on the two
sides of a central axis

CNY: ¥ fol[h) o.M MG 6160 @ L&
FFFTeOOLIL LMW SeUMITET FaMml 6T5I?
A 2 Lemev @@ el 2&FF 6T audl Il HiGLD
@ revor(h) FLo LM MBS mas LI LINflé e (pigub
B) @& SIS S &G BT HM
alevmiGasaflavd Flev  (NSIGHITEDI6mL L
aflevmi G s eflavin smeooTL LIS M.
C) LD6DOTL|(Y MMID @MITV&HET Q) HLIGHS
FLOFFTeOLILML W el6VMHEIG &6 TG LD.

D) @(HLI&HE FLOFFTemIOLILmL W al6VkIE 6T

R0 MW JFRT @ USSMHEIS6TIan
(39) 60 600T LI T60T 2 L6y 2 _MILIL|SH6M6TS
QUMM BHEGLD



56. Planaria possesses high capacity of

A) Metamorphosis

B) Regeneration

C) Alternation of generation
D) Bioluminescence

erGeoriflwimeilev smevor ILGID FNmLUILL LI6voTL]
A) QU6 2_(HLOMMMLD
B) @ oL LS L6V
Q) LUIMeL-LIMedledl Hemev(pemm LOMMHMLD
D) 2_wilQgmerfligev

57. Which one of the following exhibits an alternation
of generations (metagenesis) in their life cycle?

A) Ctenophora

B) Porifera

C) Cnidaria

D) Mollusca
L9 edTe6u (H 61 60T6U M Ml 6V 6TGl laum 6ot
QUITLNE 60 & &F FLpm& ullev LImev-11medl 69l
SV (QIL L TR l&en) mMHmEHens
QaueflILQ &SR MEI?

A) 19.C60T MG T

B) SlemeTU] L6 &6

O) mleLflwrm

D) QLO6LaVIL_60l & 6T

58.Match the column A with Column B and choose
the correct option
Column A

A. Sycon

Column B

1. Venus flower basket

B. Spongilla — ii. Bath sponge

C. Euspongia —

D. Euplectella — iv. Scypha
A) A iii) B i) Civ) D (ii)
B) A iv) B iii) Cii) D (i)
C) A ii) B iv) Ci) D (iii)
D) A iv) B i) Ciii) D (ii)

iii. Fresh water sponge

afleng A LnmHMILD auiflens B UL6T QUITIHES SIS
alflens - A alflens - B
A. 60)& & 85 T60T

i. eF60T6V L& Gn 6L
B. eruLImedTel6veuIT
C. Wyehvuimedreglwirm
D. W,L16T& 6 L6V6VIT
A). A iii) B i) Civ) D (ii)
B). A iv) B i) Cii) D (i)
Q).A i) Biv) Ci D (i
D). A iv) Bi) Ciii) D (i)

i. @erfluiey &L MLIEHS

- ii. peoTe0f T HLMLIGHS
iV. 6TVEDY & & LIT

10

59. Identify the incorrect statement for the given
figure

A) It contains amoebocytes and smooth muscle
cells

B) Nematocysts are used for anchorage, defense,
and to capture the prey

C) Sexes are not separate (monoecious)
D) development is indirect and includes a larval
stage

HCL Q&ETRH&SLILL (66T
SHEUMITET oMM 6TSI?

UL &S M & meor

A) @860 ASCLIMN &L (H&H6TLOMMILDGILN6ITEH &
QEFLGHEBLD &Tevor L LI(H &) 6dT m 60T

B) 2L 19561 &TETEH S 6L, UMSISTLIL,
@ey  LHYEH B Lol lEHEnHS
QB GLITHI6NV L (B &6 LI6dTLI(H & 6dTm 6ot

C) LIMTES) 60T IS 6T 560115 & 6011 LI T60TEm) 61
@ 6vemev (@ mLImeL 2 _uliflser)

D) 6UITIT6U T 85 1560 L_LLI
SHEUETIEDR HenL QLT MS!

LDEM (LN &S

60. Which one the following statement is incorrect?

A) Mesoglea is present in between ectoderm and
endoderm in Obelia

B) Fasciola is a pseudocoelomate animal
C) Taenia is a triploblastic animal

D) Pleurobrachia exhibits biradial symmetry.

LN edTeu(BLD So M MIGH6TI6V 6TSI &HeUMmTeoT?

A) elledlwmeiley LmLiLemnL LDMHMILD
sUUmMLEG @enLullev  WCFmHRerflwim
SmeoTLIL(Gh S M

B) &GLIFIGWIMeuT )

2 LGP EHmL I ell6unkiE

Q) leaflWm e enal(h&ESGHEHmLLL alleumniE

D) LeehGrmligme&&wmeley Fomps FgFgr
SlemoLiL] &meoor LGS M

cumed



